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b. 10 years
c. 15years
d. 17 years
e. Not enough information to tell

Figure 7-1
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Use Figure 7-1. Population A is most likely
rapidly growing.

rapidly declining.

stable or close to stable.

going to decline in a few decades.
There is not enough information to tell.

opo o

Use Figure 7-1. In pyramid A, what is the approximate number of people in the bottom 3 cohorts (0-10)?

a. 200,000,000
b. 250,000,000
c. 350,000,000
d. 450,000,000
e. 500,000,000

Use Figure 7-1. Population A would most likely be in which stage of demographic transition?

[N
G W —

Which of the following chemical reactions are involved in the creation of acid rain?
1. sulfur dioxide and water vapor combine to create sulfuric acid

1I. hydrogen and chlorine combine to create hydrochloric acid

1I1. sulfur and oxygen combine to create sulfur dioxide

© 2012 W. H. Freeman/BFW Publishers AP Practice Exam with FRQs




image8.jpg
ppo o

[only
1T only
11T only
I'and I
Tand IIT

32./ Topsoil is often considered to be found in what two horizons.

34,

335

36.

QR P

O and A horizon.
O and B horizon.
A and B horizon.
A and C horizon.
parent material.

The least weathered zone in a soil is the

eaooe

A horizon.
O horizon.
E horizon.
C horizon.
B horizon.

The water table is

o a0 op

anywhere water is visible on the surface.

where streams and lakes intersect.

the uppermost level at which water fully saturates rock or soil.
synonymous with groundwater.

where water under pressure rises.

Eutrophic lakes

caooe

have very low productivity as a result of acid rain.

have very high productivity as a result of high levels of nutrients.

have low nutrient levels.
are formed by glaciers.
usually have absolutely no fish.

The effect(s) of dams include

eao o

impediment to fish migration.
displacement of people.
reduction of fossil fuel use.
reduction of seasonal flooding.
all of these answers are correct.

Figure 9-3
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Use Figure 9-3. According to the figure above, what is the approximate total water usage for South Africa,
Mexico, and France?

a. 6,000 L/per day

b. 11,700 L/per day
c. 13,000 L/per day
d. 15,000 L/per day
e. 23,500 L/per day

You are selecting a new dishwasher. You do about 150 loads per year. The less efficient model uses 9 gallons
per load. The more efficient model uses 6 gallons per load. How much money will be saved on water if you
select the more efficient model and the price of water is $0.75 per 1000 gallons?

a. $0.34

b. $3.30

c. $33

d. $330

e. $3000

Gray water is suitable for
drinking.
washing clothing.

washing cars.
watering plants.
both ¢ and d.

ea0op

One example of the tragedy of the commons can occur when several farmers share the same pasture for
feeding sheep. The root cause of this tragedy is that

a. people are bad

b. sheep reproduce too quickly

c. the market cannot support too many farmers

d. the farmers believe that if T don’t use it then someone else will.
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Multiple Choice
Identify the choice that best completes the statement or answers the question.

I

Living in an environmentally sustainable way necessitates

a. using Earth’s resources efficiently whenever convenient.
b. living without basic ecosystem services.

c. living in a tent.

d. living in a rural area.

e. sensitivity to the needs of future generations.

Five square miles is equal to acres. (1 square mile = 640 acres)
a. 032

b. 320

c. 2500

d. 3200

e. 32,000

The concept of ecological footprint is measured in terms of the amount of
resource an individual consumes daily.

land area.

resources an individual consumes over the course of a lifetime.
resources an entire nation consumes yearly.

resources an individual consumes yearly.

o0 oPp

An element is a substance that

a. can be broken down into simpler components.
b. is made of many types of atoms.
c. is made up of molecules.

d. consists of one type of atom.

e. makes up energy.

On the pH scale, is neutral.
a. 3

b. 4

G B

d 6

e. 7

According to the law of conservation of matter,
L.matter can be created

I.matter cannot be destroyed

IILafter a chemical reaction, the original atoms remain

a. lonly.

b. Ilonly.
c. Il only.
d. TandIL
e. TlandIIL

The “ability to do work “ is called
a. power
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b. joules

c. energy.
d. heat

e. radiation.

In the electrical lines that transmit electricity between a power plant and a home,

is lost as heat and sound.

a. 10
b. 30
c. 50
d. 70
e. 90

negative feedback loop is
when feed back into the system increases the rate of progress.

seen in the example of world population growth.
when a system responds to a change by returning it to its original state.

A
a
b. seen in the example of increased greenhouse gases leading to global warming.
c
d
.

Both b and d.

Choose the correct sequence for energy flow within an ecosystem
a.
b.

C.

Herbivores —» producers —» carnivores —» scavengers
Producers —> herbivores —» carnivores —» scavengers
Producers —> carnivores — herbivores — carnivores
Scavengers —» producers —> herbivores — carnivores

Carnivores —> scavengers —» producers — herbivores

Which of the following are needed for photosynthesis?

a. Water, solar energy and carbon dioxide
b. Water, solar energy and glucose

c. Carbon dioxide, energy and glucose

d. Oxygen, water and energy

e. Oxygen and glucose

Figure 3-1
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Use Figure 3-1. Which of the organisms illustrated above would be considered a decomposer?

a.

b.
c.
d.
[

Vulture
Zebra
Hyena
Bacteria
Hare

‘What impact does deforestation have on the carbon cycle?

a.

eao g

Increase in amount of CO, in the atmosphere

Decrease in the amount of CO, in the atmosphere

Increase in the amount of photosynthesis

Increase in the amount of cellular respiration performed by autotrophs
Deforestation has no impact on the carbon cycle

‘When nutrients are transported through soil with water, this process is known as

oo os

Infiltration
Percolation
Decomposition
Leaching
Nitrification

Which of the following is not a part of the carbon cycle?

pao o

Transpiration
Combustion
Photosynthesis
Extraction
Respiration
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16. Use Figure 4-2. Using the graph above, what conclusion can be drawn about the relationship between
temperature and saturation point?

a. As temperature increases, saturation point decreases exponentially

b. As temperature increases, saturation point increases exponentially

c. As temperature increases, saturation point increases linearly

d. As temperature increases, saturation point decreases linearly

e. There is a negative correlation between temperature and saturation point
Figure 4-6
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Use Figure 4-6. What phenomenon does the above figure represent?

a.  Mountain rain effect

b. Prevailing ocean winds
¢. Desert formation

d. Climate change

e. Rain shadow effect
‘Which of the following are examples of wetlands?
1. Swamps

II. Marshes

II1. Bogs

a. lonly

b. Monly

c. ITonly

d. TandII

e. LIIand 1l

Which biome has plants with adaptations that prevent water loss, such as smaller leaves with few pores for
gas exchange?

a. Temperate rain forest

b. Woodland/shrubland

¢. Temperate seasonal forest
d. Tropical rainforest

e. Subtropical desert

Figure 5-3

pH

Use Figure 5-3. Using the data provided, what is the pH range for the fundamental niche for species 22
a. 1-14
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22.

23.

24.

25

26.

27.

b. 3-11
c. 59

d 7

e. 8-11

The intrinsic growth rate of a population

directly affects environmental resistance.

causes changes in birth rates without affecting death rates.
causes changes in death rates without affecting birth rates.
is the maximum rate at which a population may increase.
all of the above

ppoos

Many plants have their roots infected with a specialized fungus. The plant supplies carbon to the fungus, and

the fungus supplies nutrients to the plant. This is an example of a association.
a. mutualistic

b. commensalistic

c. parasitic

d. successional

e. predator/prey

The total fertility rate (TFR) is an estimate of

a. the number of children that will survive to adulthood.

b. the number of years a typical infant will live.

c. the number of children each woman in a population will have.
d. the number of births per 1000 people per year.

e. the percentage of women in a population that are able to have children.
Developing countries tend to have a(n) _ age structure diagram.
a. rectangular-shaped

b. inverted triangle

c. pyramid-shaped

d. square

e. round

Populations whose age structure diagrams are narrower at the bottom than at the top have
high death rates

the same proportion of individuals in each age group

a declining population

a high growth rate

all of the above

oo Te

Many sub-Saharan tribesmen of Africa regularly use the blood, milk, and fur of their livestock, without
killing them. Based on this information alone we might classify this relationship as . However, the cattle
actually derive an overall benefit because the herdsman also protect them from predators and help them find
water and food. Therefore, this relationship should instead be classified as .

commensalism; mutualism

mutualism; competition

parasitism; commensalism

parasitism; mutualism

predation; parasitism

o0 o

Using the rule of 70, a population growing at 10% would double in
a. 7 years

© 2012 W. H. Freeman/BFW Publishers AP Practice Exam with FRQs




